N & 0l & At

o o Al

A

SN SR
Ha: =oolo 4o M A
& sPHFMHIA FE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
sSYE M 26,425,343 26,934,788 A 509,445
= 1,184,283
X 9,799,000
J| 45,523
= 2,227,385
Al 13,169,152
sgelel afo 2 e 3,916,021 4,617,399 A701,378
= 993,783
J| 45,523
< 776,899
Al 2,099,816
sHAEZFAMHA 2E 3,756,416 4,405,982 A 649,566
= 983,203
= 774,131
Al 1,999,082
sHEe0 XN& 22,400 19,200 3,200
< 1,120
Al 21,280
301 gt 4= 22,400 19,200 3,200
< 1,120
Al 21,280
1MIIEBESS 22,400 19,200 3,200
O=Jt=<0l XA
50,0003 = 7 = 80 = 80% 22,400
S 1,120
Al 21,280
Hdsgeldy 29 X 261,000 261,000 0
< 8,700
Al 252,300
307 21201 A 261,000 261,000 0
< 8,700
Al 252,300
02 It S AIHE L 261,000 261,000 0
OWEsHYLUHEEH 29 XIJAAY
145,000,000& * 2JH 4 = 90% 261,000
< 8,700
Al 252,300
sg&E0E ¥ dE2HEH =4 112,020 183,858 AT71,838
203 ¥ S =&l 7,000 0 7,000
03 Al =AY 2= 7,000 0 7,000
O=gZ3M 243 gRF2 7,000,000& 7,000
301 et d s 6,300 44,400 38,100
09 HALAHIEA S 6,300 44,400 A 38,100
O=sgaddgel gJ¥u=s Ik 70,0008 859 5,950
OHFANSASEYAELATHYOG HAT
= gl 7,000& * 508 13l 350




SN sYEUY
HMa: =il sl I A
& sPHFMHIA FE (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
307 glz2tol & 98,720 131,868 A 33,148
02 RIZFE MM E X 58,720 94,940 A 36,220
O=gddgel Zis &It
75,0003 = 400¥ = 80% 24,000
CoE=ttsE ot e At XA
8,200,000& * 13| = 80% 6,560
O&E=gel HEgs MM s N2
25,000& = 400 * 80% 8,000
Od=sge 830U &It
75,000 = 137 = 80% 8,220
O0&E=sL RelsLS A0l A
4,800,000& = 138 = 80% 3,840
O=s23 AIUa ot
33,750& = 100 * 80% 2,700
O=0tlsl ==s8ote XA
27,000& = 2509 * 80% 5,400
04 DI2HHALAISE E X 40,000 36,928 3,072
OFFA sd3Z AUHE
45,000,000& = 18] = 80% 36,000
O&E=sge d2u=
25,000& = 2009 * 80% 4,000
=gy stits X& 452,540 654,000 A 201,460
< 27,153
Al 425,387
301 getE 4= 452,540 654,000 A 201,460
< 27,153
Al 425,387
02 Zetadsia 452,540 654,000 A 201,460
Os0gel MHHs s KA
302,500& = 374F * 43 452,540
< 27,153
Al 425,387
s Mol EBHE N 61,200 79,405 A 18,205
< 20,400
Al 40,800
307 glz2tol & 61,200 79,405 218,205
< 20,400
Al 40,800
06 23 61,200 79,405 A 18,205
O=YltMZHILY X &
80,000& = 5,100 * 15% 61,200
= 20,400
Al 40,800
HE0 FIF NEAMY 3,200 4,000 A 800
301 L2 Az 3,200 4,000 A 800
1MIIEELES 3,200 4,000 A 800




SN sYEUY
Bu: sololo 4o & HA
S9l SRBTHUA T (sl &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O=sJt==<0l FIHKA
50,0003 * 20 = 49 =80% 3,200
sl 32X ESK&A 17,040 17,040 0
= 3,408
Al 13,632
201 LBH2d| 17,040 17,040 0
< 3,408
Al 13,632
01 At 2t 2l 17,040 17,040 0
OsgJllzs EEX M3 284% * 60,000 17,040
< 3,408
Al 13,632
SHE B0 KA 1,626,240 1,557,600 68,640
= 780,594
< 422,823
Al 422,823
301 et a =z 1,626,240 1,557,600 68,640
= 780,594
< 422,823
Al 422,823
MIEE4d3 1,626,240 1,557,600 68,640
O=s0E B0 HA
110,000& * 1,2328 = 12& 1,626,240
= 780,594
= 422,823
Al 422,823
H&E=ge d=2<2d X 566,670 588,900 A 22,230
< 226,668
Al 340,002
307 21201 A 566,670 588,900 A 22,230
< 226,668
Al 340,002
05 RIZt2IEt = 566,670 588,900 A 22,230
OWEsUHYL A=SHRH ALY
130,000& = 4,359H 566,670
< 226,668
Al 340,002
=Il= Oltel MZEJEE AIEX& 210,000 665,000 A 455,000
= 150,000
< 30,000
Al 30,000
402 QI2EXt20l ™ 210,000 665,000 A 455,000
= 150,000
< 30,000
Al 30,000
01 It =2 AL B X 210,000 665,000 A 455,000




2N
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L= B

el

O O Of

o F
oo go H M
I AL A P

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
O SJl=s 0luel HZEIJISAE X3
300,000,000 = 70% 210,000
= 150,000
& 30,000
Al 30,000
=AY A4 1 38,000 38,000 0
= 22,800
& 4,560
Al 10,640
307 2iztol A 38,000 38,000 0
= 22,800
& 4,560
Al 10,640
02 QIZ2IA AAIE E X 38,000 38,000 0
O=gdgNALE X 76,000,000& * 50% 38,000
= 22,800
= 4,560
Al 10,640
SHAGH sg3H dEXE 124,656 123,060 1,596
= 24,931
Al 99,725
201 et 124,656 123,060 1,596
= 24,931
Al 99,725
01 AR 22l ] 124,656 123,060 1,596
O=sgAEAIH =sg€39 d2HZ2
1,484% « 84, 000¥ 124,656
o= 24,931
Al 99,725
FOUAEXNS 228 29 137,080 155,900 A 18,820
201 et | 135,000 154,100 A 19,100
01 AP 2t 2] H| 132,000 150,500 A 18,500
OFVASBIAY L2222
13,200,000,000 * 1% 132,000
02 2324 3,000 3,600 A 600
OFLUAEXNZ MY A MEIISE H=
250,0008 = 4 1,000
OF0UASANZ2 HMEX HOHH S
1,000,000 = 24 2,000
202 o4l 2,080 1,800 280
01 2L Y| 2,080 1,800 280
FOIASANGF=XNAHY|
20,000 = 2% x /2 2,080
JagdAN=2 L 2354 XN 6,870 0 6,870
= 4,809
& 618




SN SR
Ha: soolo s M M
Sl SYBZMHA T (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 1,443
301 et a = 6,870 0 6,870
= 4,809
< 618
Al 1,443
MIIEEdS 6,870 0 6,870
OZAEHENE=EZ 6,870,000& 6,870
= 4,809
< 618
Al 1,443
FIALHESE S8 Y selol2 s 80,000 0 80,000
301 LA F 80,000 0 80,000
06 212t2I= 2 04 Hl 80,000 0 80,000
OFTAiEs8lY =ZoloielH =
2,000,000& = 50 * 80% 80,000
SESSHEA =AY K& 37,500 0 37,500
= 25,000
< 3,750
Al 8,750
307 21201 A 37,500 0 37,500
= 25,000
< 3,750
Al 8,750
02 YAFLAFEX 37,500 0 37,500
O=sEZSHEAR=ALL XA
50,000,000& * 1JHZ * 75% 37,500
= 25,000
< 3,750
Al 8,750
CEsuF 243 90,208 148,260 A 58,052
= 10,580
< 2,768
Al 76,860
Fse dsus ¥ SASE HE0sS /Ens 7,400 8,860 A 1,460
301 et a3z 7,400 8,860 A 1,460
09 &AL HI B &S 7,400 8,860 A 1,460
OF=se s Wl
20,000& = 28 * 509H 2,000
OSAER MHNSDSUE AL
50,000& = 108% 5,400
EsWFE HAEH XA 38,000 0 38,000
307 glz2+ol & 38,000 0 38,000
02 It M AHEE 38,000 0 38,000
OLsuE HAEN XJAY
20,000& = 1,900 38,000
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= MW

1,568

1,568
980
176
412

104,400

A 102,832
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= MW

18,240
9,600
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6,048

18,240

N
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N
0
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9
HI

EN
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i
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m

MNEE HEXH
1

,200,000& * 128~ 1&

06 283

OsZEHE0ts 280tg X

0

6IH0tS » 640,000

= M W

= W

14,400

14,400
7,200
2,160
5,040

3,840

3,840
2,400

432
1,008

14,400

3,840

]
Ol
e
Ol
S
=
4
e
=
paa
o

25,000

25,000

25,000

25,000

2,500,000& = 109H

25,000

25,000

25,000

Il
Al

69,397

45,523
23,874

63,157

6,240

23,874

28,953

A5,079

7,908

12,559

A4,651

=dls 2E=S 6,785,000 * 4.5%

g3 6,785,000 =1.5%

7,908
7,908

6,785
306
102

12,559

N4,651




SN S
g =g &9 2 A
& 28 sX2e (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SENEFEER=TE=
6,785,000& = 2.995% 204
OEINRAYEE FE3 204,000& = 6.55% 14
O EE FH= 6,785,000& = 1.42% 97
OZEFtyl 200,000& * 23] 400
201 Let24d] 11,166 10, 166 1,000
02 23=24gHl 11,166 10, 166 1,000
O=8 sk &g =8 2,166,000 2,166
OsgAEXNAXNF (HE oiH) S1=
9,000,000 9,000
202 O4dl 4,800 6,228 A 1,428
01 = LH 4 Hi 4,800 6,228 N 1,428
OsA2eltl 20,000& = 4H = 60 4,800
sXolga2Xad(02) 45,523 34,204 11,319
J| 45,523
101 @124 dl 45,523 34,204 11,319
J| 45,523
4 JI2ZHHZ22XEES 45,523 34,204 11,319
OJIZtHZ22Xs B+ 45,523,000& 45,523
J| 45,523
sgolgt 2= 22,445,690 21,950,572 495,118
= 190,500
Xl 9,799,000
< 1,450,486
Al 11,005,704
SHMADIBIAIE &= 22,445,690 21,950,572 495,118
= 190,500
Xl 9,799,000
< 1,450,486
Al 11,005,704
=S5 Ma 2t 15,000 15,000 0
201 et 15,000 15,000 0
01 At 22l 15,000 15,000 0
Osg=2 2 SIHIE 500,000& = 30A 15,000
dBAOS LMY 500,000 347,143 152,857
X 350,000
< 45,000
Al 105,000
402 RI2EX20| M 500,000 347,143 152,857
Xl 350,000
< 45,000
Al 105,000
02 BIZ2HCH S AL &1 HI 500,000 347,143 152,857
OL2MHR0tE =& AMH 500,000, 000& 500,000
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sele A&
SYUMMIBAILE BE

SN FH-SA(EN) - MBAY - BES

Off &t 24
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= M
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e
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176,
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000
000
000
000
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000

401 AIEHIZ 2 THYI

= 0N W

220,
176,
22,
22,

000
000
000
000

220,

000

03 A2 2 THHI
OAIE 2 HI

218,416,000&

220,000,000& * 0.72%

= N W

218,
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176,
22,
416

,584
,584

20
1
1

416
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000
000

,584

JIHEE &2 8T A

X

H

Al

1

,150
805
172
172

,000
,000
,500
,500

2,831

,428

A1,681,428

403 A XM SXH=0lA

X

= M

1

,150
805
172
172

,000
,000
,500
,500

2,265,

142

AT1,115,142

02 S 2S0ICHeCH

QJIAHIHZ =L

At
x

AL

a]

1,150,000, 000&

Xl

t

Al

,150

, 150
805
172
172

,000

,000
,000
,500
,500

2,265,

142

A1,115,142

Xl

Al

,500
,050
135
315

,000
,000
,000
,000

2,038,

571

A 538,571

401 AIEBIZ 2 CHYI

Xl

H

Al

,500
,050
135
315

,000
,000
,000
,000

2,038,

571

A 538,571

01 A& HI

O==MEaHAH| A}

ST o= oo

03 AlE 2 THHI
OA & 20HI

(oF]
=

1,494,600,000&

1,500,000,000& = 0.36%

Xl

= M

1,494,600

1,494,600
1,050,000

135
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5
5

,000
,600

,400
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2,031,
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,339

A 536,632

A 1,939
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SN SR
M =9d|g 1E
Sl SOIMADIBIAIY BE CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 A& HIZ 201 I 1,648,011 1,528,700 119,311
01 A& HI 1,639,049 1,524,000 115,049
Ll ANESA22H (23X, 82,2, 23
L= F) 700,000, 000& 700,000
OM=X ==SHAH & M==(167H=,23])
131,520, 000& 131,520
O=gJIIEtAld DI=8XN E&=
200,000, 000& 200,000
OL7SL JIHEEZ LI AH8.0km)
300,000,000& 300,000
OEZZHX 2lAE2 EH 2 HIXH™alSAH
YT AFES) 10,000, 000& 10,000
O B3 AH100HA)
3,000,000& * 1090 A& 30,000
odd 2e= M=K E+3A 255,000,000 255,000
OdY 2el=2 M==Xl EZA AAEHESA
12,529,000 12,529
03 Al S HHI 8,962 4,700 4,262
O=YIIEAIE RANEF=AY AIZRUH
8,962,000 8,962
402 RIZ2HXt20l 12,000 12,000 0
02 QI2HCH e A S HI 12,000 12,000 0
ODSEI+E ASHR(2F 85,294 23)
500,000& * 128 » 20 12,000
403 XIS E X201 H 260,000 0 260,000
02 S| 2SI CHSHH & AL B 260,000 0 260,000
OHIIsM=X2 51014 ELHHEESA
5,000,000& * 520K A 260,000
SYIIBHAIE S E ALY 4,552,053 2,228,489 2,323,564
401 Al HIZ 201 8] 2,902,053 1,528,489 1,373,564
01 A& HI 2,891,955 1,524,000 1,367,955
OEOl 22l =2 FHISAH(L=1.0km)
120,000, 000& 120,000
O=0l &lth2el =2 ZHl 3 At(L=260m)
50,000,000 50,000
O=S0| ZLX T == FHI3AH(L=1.85km)
120,000, 000& 120,000
O=0l SAHXT =2 FHHlZAH(L=250m)
70,000,000 70,000
ou= Ml sg8 22 & X3 AH(L=600m)
40,000,000 40,000
OU= SF12l =28 22 & X3 AH(L=600m)
40,000,000& 40,000
ou= 242l =2 FHl 3 AH(L=200m)
40,000,000 40,000
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X ZH -
L= B

el

>
x
o
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= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OU= ASHXIF =2 A HI S AH(L=200m)
20,000, 000& 20,000
O8& el tha==2 & B3 AH(L=150m)
50,000,000 50,000
OZUW Cteteel == & HI3 AH(L=350m)
100,000, 000& 100,000
O2 U Ar=222l tH=2 ZHl 3 AH(L=130m)
25,000,000& 25,000
OZU Efd2el == AHI3AH(L=140m)
30,000, 000& 30,000
o s&el =2 HUl3AH(L=140m)
35,000,000& 35,000
02E ¥=32 == FHI3AH(L=700m)
250,000, 000& 250,000
Ot sEXF =2 ZHISAHL=1.2km)
70,000,000 70,000
O=s4 SAHXNT =2 ZHISAHL=1.2km)
70,000, 000& 70,000
O MXel == Hul3AHL=350m)
30,000, 000& 30,000
odsd &23el =2 Jul3AHL=500m)
30,000,000& 30,000
od4d oldel =2 U3 AHL=100m)
70,000,000 70,000
OO0l HUX+ Eti+== Hdl3AH(L=1.0km)
70,000,000 70,000
OLlg BLX T Eti+== Hdl3AH(L=1.0km)
70,000,000& 70,000
Odgg Jtdtel Eti+= H B3 AH(L=1.4km)
100,000, 000& 100,000
odgY steel =2 Jul3AHL=240m)
20,000, 000& 20,000
O=2 =12l Stis=2 F IS AHL=1.0km)
70,000,000& 70,000
OR9 glel gti== HbI3AH(L=1.0km)
50,000, 000& 50,000
OJtY HOIRE 243 AH(L=68m)
400,000,000& 400,000
OJe AUXT Sti+==2 FHHISAHL=1.4km)
120,000, 000& 120,000
oxng oixtx+& 2 & X2 AH(L=50m)
50,000, 000& 50,000
oxng #AEXF =2 HHI S AH(L=450m)
30,000, 000& 30,000
OFAsE 77 LA 22 FHISAH(L=
800m) 100,000, 000& 100,000
O s 456X LA 22 FHISAH(L=
1. 1km) 100,000, 000& 100,000




2N
X ZH -
L= B

el

SR
sele A&
SYUMMIBAILE BE

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OANUHS 440281 X & M2 HHlZ2AHL=300
m) 55,000,000 55,000
OAMNES 4758 XM SHi2=2 FH|2AHL=1.0km
) 50,000,000& 50,000
OFstE2 2 204 BHIZ2A 150,000,000 150,000
O=24 H=22] =2 ZHIZAH(L=110m)
50,000,000 50,000
O=24 Q42| HI=2 FH|IZ AH(L=130m)
60,000,000 60,000
O=gIIBAIE S ALY A AIE A
2,805,000,000& * 3.10% 86,955
03 Al 201 Y| 10,098 4,489 5,609
O=gIIBAIE S S ALY AIE20H]
2,805,000,000& * 0.36% 10,098
403 XX SHHMS K201 & 1,650,000 700,000 950,000
02 SII2S 0 CHsHOH A I 1,650,000 700,000 950,000
OsHEZAF 22|29 JIBHAlAD S X 2eld]
1,500,000, 000 1,500,000
0L AMME=X A2 HH| 2 AHL=350m)
150,000,000 150,000
SHIELAIE K X2l 114,340 410,512 A296,172
201 et 68,340 90,512 N22,172
01 AP 2t 2] d| 30,000 14,120 15,880
ot Al &HHl LIt 600,000& = 50CH 30,000
02 =224 H| 38,340 76,392 A 38,052
o230t ,MAA0IS ot HMeANdE JIR2
500,000& = 128 = 2004 12,000
ORLLENE=XN AR dMIRB
JlE2& 920,000& = 128 + At 2 1,700,000 26,340
2 x 98
401 AlEHIZ £ 0HY| 35,000 150,000 A 115,000
01 Al&H| 35,000 150,000 A 115,000
ORLRENE=XN DAMNELU KA
700,000,000& * 5% 35,000
403 XX SHHS K20 & 11,000 170,000 A 159,000
02 2D 2tS 0l CHSHCH & A HI 11,000 170,000 A 159,000
0L AHME=XN =2MA 11,000,000 11,000
=2l HF=ClAlE 24| 40,000 36,000 4,000
201 et 40,000 36,000 4,000
02 232%H4| 40,000 36,000 4,000
Ol H=22lAlE2GH| (27000 A)
40,000,000 40,000
SENNSSS ML ALY 2,444 286 978,571 1,465,715
N 1,711,000




SN S
M =9d|g 1E
el SUMAD|BAL 5 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 219,986
Al 513,300
403 MtXISHHE X201 & 2,444,286 978,571 1,465,715
Xl 1,711,000
< 219,986
Al 513,300
02 S| 2SO0l CHEHCHE AL B 2,444,286 978,571 1,465,715
ON=E0|HE =ZE0ISSEHEAMS
1,444 ,286,000& 1,444,286
Xl 1,011,000
< 129,986
Al 303,300
CHEIUHAE =ZE0ISSEHEAMS
1,000,000, 000& 1,000,000
Xl 700,000
< 90,000
Al 210,000
SHATHA ZSEEHIAY 5,000,000 5,671,429 AB71,429
Xl 3,500,000
= 450,000
Al 1,050,000
401 A& HIZ 201 8] 5,000,000 5,671,429 AB71,429
Xl 3,500,000
< 450,000
Al 1,050,000
01 A& HI 4,986,500 5,104,250 A 117,750
OLLESAMA SEEHIAY  2,493,250,000& 2,493,250
X 1,750,000
< 225,000
Al 518,250
OZUHATHA SEEHIAY  2,493,250,000& 2,493,250
Xl 1,750,000
< 225,000
Al 518,250
03 Al S THHI 13,500 14,179 AB79
OAIE 2 HHI 5,000,000,000& * 0.27% 13,500
222l AlE &b 330,000 333,000 A 3,000
< 100,000
Al 230,000
401 AIEHI L 2CHEI 330,000 333,000 A 3,000
< 100,000
Al 230,000
01 A& Hl 327,624 330,602 22,978
O3sZM=X E+=3A 327,624,000 327,624
< 100,000
Al 227,624
03 A& 2 THHI 2,376 2,398 A22
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X ZH -
L= B
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SR
sele A&
SYUMMIBAILE BE

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OA&E S0l 330,000,000& * 0.72% 2,376
ANZEFUSALS 50,000 70,000 A 20,000
Xl 35,000
= 4,500
Al 10,500
207 I & d| 50,000 0 50,000
N 35,000
=} 4,500
Al 10,500
01 A& | 50,000 0 50,000
OLBISAIHENYY XS HSFASAY
50,000,000 50,000
Xl 35,000
o 4 500
Al 10,500
sHE 882y 29,000 13,400 15,600
= 14,500
Al 14,500
307 QI2t0| ™ 29,000 13,400 15,600
= 14,500
Al 14,500
02 QI2tAMAIE E X 29,000 13,400 15,600
OsHE E&ZLY 29,000,000 29,000
= 14,500
Al 14,500
SHEHOUSIXZEAMY 1,270,000 2,409,000 A 1,139,000
403 XX SHHS K20 & 1,270,000 2,409,000 A 1,139,000
02 BII2S 0 CHSHCHEH AFS I 1,270,000 2,409,000 A 1,139,000
OO0ICHN K7 sSH=HOIZ2Y) ZHAIY AlHl =
& 1,270,000,000& 1,270,000
CESAMA SESEHAE 1,000,000 0 1,000,000
Xl 700,000
o=t 90,000
Al 210,000
403 XX SRS K20 & 1,000,000 0 1,000,000
Xl 700,000
o= 90,000
Al 210,000
02 BII2S 0 CHSHCH S AFS I 1,000,000 0 1,000,000
OLLESAMA EEHHIAFY  1,000,000,000& 1,000,000
N 700,000
& 90,000
Al 210,000
SMHATHA SEHU ALY 2,000,000 0 2,000,000
Xl 1,400,000
& 180,000




SN sYEUY
Ba: S|y nE
CHel SUMADIBAIE BE (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 420,000
403 MHXISHHE X201 E 2,000,000 0 2,000,000
Xl 1,400,000
< 180,000
Al 420,000
02 S| 2SO0l CHEHCHEH AL B 2,000,000 0 2,000,000
OSMHAMA SEEHAY  2,000,000,000 2,000,000
X 1,400,000
< 180,000
Al 420,000
AMZ=cl A8 E At 311,000 0 311,000
X 248,000
< 31,500
Al 31,500
401 AIEHI L 201 311,000 0 311,000
Xl 248,000
< 31,500
Al 31,500
01 A& Hl 308,760 0 308,760
O0I¥H RFel M==Xl E=3At
63,000, 000& 63,000
X 50,000
< 6,500
Al 6,500
OFYUS SN YN L Y4&T FLTA
60,000, 000& 60,000
X 48,000
< 6,000
Al 6,000
oOded 222 M==Xl Ex3A
63,000, 000& 63,000
X 50,000
< 6,500
Al 6,500
oS M M=Xl Bx=3A 122,760,000& 122,760
Xl 100,000
< 12,500
Al 10,260
03 Al S THHI 2,240 0 2,240
OAIE 2 HHI 311,000,000& * 0.72% 2,240
HH2F A 63,632 48,670 14,962
Jl=&l 63,632 48,670 14,962
JlE2ztl 47,524 48,670 21,146
201 Let24d] 18,424 19,630 A 1,206
01 At 22l 18,424 19,630 A1,206
OJlegfsd 233l 8,344,000 8,344




SN sYEUY
Hu: SRR
el Jle 2 (29 a8)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
o3l (JIE&H]) 10,080,000& 10,080
202 04| 21,600 24,840 N 3,240
01 201l 21,600 24,840 3,240
OJ|IEZHI 21,600,000 21,600
203 92 X Y| 7,500 4,200 3,300
01 J|22HLR=AH| 3,300 0 3,300
OI=H(42) 3,300,000 * 1H 3,300
04 ENSIHRF=EY| 4,200 4,200 0
©J|= (302 0lat) 350,000& = 12& 4,200
oled 2A | 16,108 0 16,108
101 1214 16,108 0 16,108
04 JIZtHI2EXNEE 16,108 0 16,108
O=UHMIIZLA HALRH 22 16,108
OsgE#HFA HREX o2
4,640 * 1¥H » 262 = 128 13,928
O=0ldza 232 13,928,000& * 4.5% 627
onagy 22 13,928,000& * 1.5% 209
OHLEE 23 13,028,000 * 2.995% 418
O&IRAYLEE 2= 418,000 * 6.55% 28
ONHTHHEE &2
13,928,000& * 1.42% 198
OY ZE S| 200,000& = 23| 400
O=XNEE 300,000& * 13| 300




